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11. Explain the following terms -

(1) Co- axial cable Time : 3Hrs. Sem. 1V - E.E/EC & C.E./I.C.E.
(ii) Open - wire transmission line Network & Lines.
I 8 Full Marks : 80

(i) ag—3ref dad Pass Marks : 26

(i) UT—aARIR STAfARA g+ Answer all 20 questions from Group A, each question

carries 1 marks.

OR(3f1am Tu-Ad a+l 20 ¥l @ IR <, UAS U BT A 13752 |
Answer all Five questions from Group B, each question
For m - derived high pass filter , show that carries 04 marks.
3 2u-—B & wfl uig yel & SR <, yAD ue bl 4 04 3B 2 |
foo
= 1— —_
m (fc ) Answer all Five questions from Group C, each question
carries 08 marks.
m - RR1gHg 818 U fberex @ forg, faw@ng 7u-C & wfi ufa wel & SR <, 9AS e B 4 08 3w 2 |
fo giar 2 |
7 All parts of a question must be answered at one place in
m = 1'(%) sequence, otherwise they may not be evaluated.
TP Ued & 9] I BT SR UP &l oiE (AR HH H)
BIAT A1RY, 3=gAT 4 Sifd €l O ¥abd @ |
es The figure in right hand margin indicate marks.

< ued & 3id Yuiie & qad @ |
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OR(3721d1) (i)

Derive expression for iterative impedance of any
asymmetrical network .

fodl sragufiid dcde & scfew sfusy @
forg arfraafea sma 3
(iii)
Explain open-circuit impedance and short-circuit
impedance of an Asymmetrical © - network .

U®h AT 1 — Aed®d @ 3NuT —dfec
sfisy 3k did—afec sisa &1 =T i)
aﬁ’_ I 111

OR(3721d)

Draw circuit of a symmetrical T - type attenuator

with load resistance of 200 Q2 and gives 20 dB
attenuation . (iv)

FAfAd T— <I3U Yeguer |, foqaT drs

gfaRier 200 Q & AR ST 20 dB &1
TSUH I Hedr 2, aRuer Read |

3 21404

fr=fafRaa 4 9 @19 sRRay Iaaq
g

(31 giforeR

@) ufasie

@) aR=

(]) daiR=A

Which one of the following is unilateral
element .

(a) Resistor

(b) Diode

(c) Inductor

(d) Capacitor

frr=fafRaa % 9 &9 e uil¥d®
quq 2 |

(a1) ufeRiE

(@) sTars

@) aR=

(]) daR=

@ is symbol of .............. .

(a) Independent Current Source
(b) Independent Voltage Source
(c) Dependent Current Source
(d) Dependent Voltage Source

P.T.O
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4.

Explain symmetrical and asymmetrical 7T - Section.

4
a3 JUfld n— Wvs & ATA™T DY |

OR(372rd)

What is transmission line ? Discuss its types .

ST |89 @ 2 ? 39 UBRI &I
fad==r s |

A symmetrical T- section consists of two series
arms of 500 Q each and a shunt arm of 200 QQ
Determine characteristic impedance Zo network .

4
U UG T-Tvs ¥ T 500 Qb gfawrer

At & 3R TS 200 Q BT UfARIEr THHTAR
q 9T 21 39 Adcdd & aeEfltie sy Zo
P AT BN |

OR(3721d)

What do you mean by constant- K band pass
filter ?

dIec -Kds U9 fhoex 9 MU |1 GHsId
g ?

04031

(vi)

(vii)

5 21404

This T- section is .....ceeeeeeeneen. .
Z, Z,

Input 7 Output

®- o

(a) Symmetrical Only

(b) Asymmetrical Only

(c) Symmetrical and Unbalance
(d) Unbalance Only

(31) waa gafa

(@) daa s

(w) wafia sk sEqfea
(]) ®aa adgfaa

A tree port network has ............. terminals .
(a) Three

(b) Six

(c) Eight

(d) Ten

P.T.O
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(xx)

(xx)

14 04031
Which one of the following relation is
correct for transmission line .
(a) Zmax = ZOX S

_ 2o
(b) Zmax= S

(C) Lmax= Z?) xS
(d) None of these
frafaRaa 4 4 @9 a1 W99 grafieE

TS © 98 ? |
(31) Zmax= Zox S

_ Zo
(a) Zmax - S

() Zmax = Zo xS

(@) s 4 HIg T

04031

(ix)

x)

x)

7 21404

fr=fafaa 4 9 fea urrfieR &1
qETA: giforeex 9 ugad fean
ST 2 |

(31) ABCD -uRTHIex

(@) h - uRTHeR

(|) Z -urRrHIer

(?) Y -umieR

Z - parameter is also called ......... parameter.
(a) Open - Circuit Impedance

(b) Short - Circuit Impedance

(c) Transmission

(d) None of these

ST ? |

(31) anua — afec sfUSw
@) wic — afee sfisH
(w) grafier

(?) 379 4 BIs T8
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(xvii)  Which of the following is correct for phase (xii)  Which of the following relation is correct
velocity . for attenuator (N)
B
(a) wp @N=
w = s
®) 3 (b)N v
© L (¢) Both (a) and (b)
I
(d) None of these (d) N= TL
S
(i) Fr=ifafRaa & 4 @9 o9 1fd & feg i) fr=ifafRaa 4 @ slF—ar 99y v
GER @ fag w8 21
B
(1) wf (@) N= T,
Vs
@ % @ N-v
@ L (@) (@) 3tz (@) <
L
(@) 3 W BIs A () N=7
(xviii) For loss less transmission line , which of the (XiTD)  wereereeneiennens allows all frequencies below
following condition is correct . cut- off frequency f; to pass
(a) WL>>R (a) H.P.F
(b) WC>>G (b) L.P.F
(¢) WL<<R (c) B.PF
(d) Both (a) and (b) (d) B.S.P
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T+d =Z (k)
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M=z (9)

IM+I=Z ()

T+d =7 (e)
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